6. BEMDRBE. BTH. FENHEISFRRAFLRE

MEIEFEZLT:

i &= T
X 5 | # % _ EIEILT
ny E@%ﬁgﬁ' %7’3\[;\0) 4k ﬁgl:ct%) VAR
ﬁ %ﬁﬁ E&I_ gﬁm@*ﬁgﬁ %ﬁﬁ %0)1'& l’ d~l'
BFERBH 8,630 250 90 50 70 90 20 8,380
K& 6,870 170 70 30 40 60 20 6,700
B K K& 1,310 60 20 20 20 30 - 1,250
JERIE 440 20 10 0 10 10 - 420
ZDfth 20 - - - - - - 20
—FPE 8,500 240 90 50 70 90 20 8,260
K& 6,830 170 70 30 40 60 20 6,650
B K K& 1,300 50 20 10 20 20 - 1,250
JERIE 370 10 10 0 0 10 - 350
ZDfth 10 - - - - - - 10
REE 10 - - - - - - 10
K& 10 - - - - - - 10
GPE - - - - - - - -
R - - - - - - - -
zof - - - - - - - -
HEEE 70 - - - - - - 70
K& - - - - - - - -
GPE - - - - - - - -
ERE 70 - - - - - - 70
Z Dt - - - - - - - -
ZDfth 50 10 - 0 0 0 - 50
K& 40 - - - - - - 40
B K K& 0 0 - 0 - 0 - -
JERIE 0 0 - - 0 - - -
ZDfth 10 - - - - - - 10
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